Year 3 Maths Overview of objectives from white rose:

Division and Multiplication:

Multiplication - equal parts
Multiplication using the symbol
Using arrays

2 times-table

5 times table

Make equal groups - sharing
Make equal groups - grouping
Divide by 2

Divide by 5

Divide by 10

Multiply by 3

Divide by 3

The 3 times table

Multiply by 4

Divide by 4

The 4 times table

Multiply by 8

Divide by 8

The 8 times table

Objectives organised with mental strategies incorporated:

Aims: Strategies, images and models:
Aim: To Pupils can make and draw equal groups Chdn get used to images with
understand and link them to multlpllcatlons multiplications to show they understand
multiplication as ﬁﬁ grouping as multiplication.
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(2 or 3 days) ‘E*Xt‘f 4= > matching repeated addition and

multiplication sentences.




Sx3

01 2 3 45 67 8 91011121314151617181920

3+3+3+3+3=15

4x5=10

! 2 3

L

L NC N NN

0 S 10
5+5+5+5=20

Complete the sentences to describe the equal groups

—t__+__ =18
_%x__=1
There are __ equal groups with __ in each group.

There are three
Complete:
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There are 3
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with 2 in each
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Must have a numberline method as this
supports mental calculation and counting
on fingers.
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Draw an image ta help you.

Use <, > or = to make the statements.
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Matchthe equal groups together.
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Chdn now use their knowledge of
annotating groups and images to find the
calculations and make links to other
groups. Instructions like - draw, use a
numberline, write an addition sentence,
can be used to show chdn how to complete
the challenges.

Use an array to write

reinforce repeated addtion.
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multiplication sentences and

Fluency -Chdn understand the way that
multiplication is commutative by exploring
drawings and making their own drawings of
different arrays for the same calculations.

-Object arrays (so they know it’'s the same
number)

-Drawing arrays

-Linking arrays and repeated addition to
the related multiplications.




. On the image, find 2 x 5and 5 x 2
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Can you represent this array using another object?

. Complete the number sentences to describe the arrays.
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. Draw an array to show:

4x5=5x4
3 lots of 10 =10 lots of 3

Chdn being asked to read arrays and use
their own images to represent them. Being
asked to show a calculation as both sets of
arrays. Nothing too complicated - just an
extension.
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. Complete the number track.
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Fluency

-Use the 2 pence, 5 pence and 10 pence
pieces to make representations of times
tables and answer questions.

-Use numberline to reinforce counting in
multiples.

-fill in missing numbers - numberline,
number grids, lists.

-Practice quick recall of facts.

Using the known facts chdn pick out the
calculations they need to solve problems.

Aim: To multiply
by 3.
(1 day)
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Fluency - It is important that pupils can link
the drawing method of having groups and
adding crosses to the numberline that
reinforces the mental methods, which then
links into just using fingers.

-Draw it and count

-Numberline

-Count on fingers.




1.Draw the number line;

2.Decide how many jumps (choose the
right number!);

3.Count in multiples.

*Note chdn sometimes choose to count in

EXT can use work already completed (Can
you show an array for this one? Can you
write the repeated addition for this etc.
Basically varied fluency.)

Aim: To multiply | the wrong number so model deciding As above
by 4. which to count the jumps in. “I'll choose 6
(1 day) jumps because I'm better at counting in
4s.”
by 8. As Above
(1 day)
Aim: To multiply | As Above Mixed questions so that chdn go between
by 3, 4 & 8. multiplication tables.
(1 day)
Aim: To divide Sharing and grouping are often taught as

using drawings.
(1 day)
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different and they are but chdn find this
confusing. Sharing is essentially drawing a
bar model. Grouping is generally a
numberline. Both have their merits but in
the long run sharing is very limited so once
the chdn have had a recap, we focus more

Aim: To divide 20 shared between 5 = 4_/ on using the numberline.
using a /4
numberline. |
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Aim: To divide 4. It is helpful to put both images alongside
by sharing and 20 shared between 5 = Y each other and ask them to do both at the
rouping. same time so they can see how reliable the
?2 def;s)g 4— Ll' Ll' l-l' 4- numberline is once you can count in
% )C XPe x multiples.
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Aim: To divide

by 2, 5 and 10.

(2 days)
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The numberline method here reinforces the
mental calculations.

*Note - there may be chdn who know these
tables really well so here’s an easy
extension to teach that also support mental

calculation.
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Aim: To solve

I have 70p in my pocket made up of 10p coins. How many 7 Chdn read the questions and can use bar
prObIemS coins do | have? Draw a picture to prove your answer. w.’bs/ models and draWingS to understand them.
involvin . ..
divisiong (2s . . . . For example: drawing the ten pences and

' ' counting supports the idea of 70 + 10.
55! 105) Mr Green haounds and wants to giv o his friends each.
(1 day) How many friends can he give £2 to? |[+ -~ l =
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Aim: To divide _ 5 Numberline method to reinforce the
by 3. 2 S =+ S = é’ learning of the multiples of these times
(1 day) w tables.
Aim: To divide O S 0 |§ ‘Z:O 5 *Note - Again there may be chdn who
by 4 know these tables really well so here’s an
' . — easy extension to teach that also support
(1 day) 6 OI . 1 8 _S_éll mental calculation.
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Aim: To

This is about chdn being able to link the

understand 2ease numbers that share relationships.
number B ax2=8
relationships in 8+2=4
times tables - & g sea=2
2s, 5s, 10s. OxO=0 ...
(1 day) |:| X I:l = D 8=4x2
D - D - I:] 2=8+4
(] +[]=[] =
Show all 8 related fact family sentences.
Aim: To Depending on how well chdn know their
understand What is the multiplication and division story of 72 and 87 tables, they may need a numberline or
number r2+ 8 = 1 | sharing strategy first.
relationships in ]2+ =1 J2-1 =3
times tables - AAEANASEAALAN 8x1 =T
3s, 4s, 8s. 0% kawnwieg s66e1l 41 x 8 =7
(1 day) =% x 9
7= 1 %}
1= 1+ R
Aim: To reason Here, resources that extend this thinking
about number Complete the diagram using known facts. and relate back to strategies and images
relationships. 5 8-0] :::I::‘;i:}: already studied makes sense.
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